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T ES HE % 25 BEIRRR%  Hifi%
x = Oh (A) 2 1 3 2
8 |0h <x<1h (A) 2 3 3 1
= % 1h <x<2h (A)] 10 6 10 3
= 55 [2h < x<4h (A)| 13 20 4 1 1
%72;; x > 4h (A)
& % T 19HBEE (/)\B5) 2.5 2.85 1.66 2.06 1.25
%
=
B | y=0h (A 13 10 10 1 3
§ Oh <y<1h (A) 7 3 3 3
g;!j lh <y<2h (A) 3 9 1
96 |2h < y<4h (A) 2 6 4 1
y > 4h (A) 2 2 2
RHTHHHECE) | 1.04 1.52 1.49 0.38 0.69 3
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{Et1 % = IRZ %
x = Oh (A) 1 4 2 1 4
| 0h < x<1h(A) 7 4 1 4 2
Z; lh<x<2h(A)| 9 4 5 g 10
75 | 2h < x<4h (A) 7 15 5 4 4
X > 4h (A)
& L TFIRBHE (/) 1.94 2.34 1.92 1.77 1.63
=5)
E¥M & = = IRZ A
y = 0h (A) 16 17 10 9 13
% 0h <y<1h (A) 4 3 1 2 1
B B lh<y<2h (A) 3 5 2 2
4B ys
26 (2h <y <4h (A) 1 2 6 2
y > 4h (A) 2
RLTIHEBR(NE) | 047 0.65 0.31 1.21 0.97 )
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E:
x = 0h (A) 5 2 2 2 2 3
€ 0h<x<1lh (N)| 7 1 3 1 4 5
z; lh<x<2h (A) 6 6 5 4 9 14 6
o5 2h <x<4h (\)| 12 19 1 2 1 3 7
X > 4h (A)
RAFI9HBE(IE) | 193 | 276 | 139 | 175 | 16 15 | 1.81

2
y = 0h (A) 20 13 9 7 6 13 13
;&T; Oh<y<1lh (A)] 5 3 1 3 1 4
'gﬁ lh<y<2h (A)] 2 4 1 1 2 2 4
s 2h <y<4h (A)| 3 5 1 3
y > 4h (A) 3 1 2
ZHTFHIRBEVNE) | 0.5 163 | 014 | 0.25 1.25 | 093 | 0.37
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x = 0h (A) 1 1 8 1

¥ 0h <x<1lh (A) 1 2 2 1

Z; 1h < x<2h (A) 1 3 2 4

° [2h < x<4h (A)| 8 10 6 13 3 1
x > 4h (A)

RRTBEOIE) | 2.71 3.3 24 | 204 | 21 0.5 4
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BB /§$H% BEBE

=2 1 EE
y = 0h (A) 5 5 5 13 6 2
% Oh<y<ilh (A)| 1 6 1 5 1
P lth<ys2h (0] 1 2 1 2
26 (2h <y <4h (A) 2 3 3 1
y > 4h (A) 1 1 1
S ZFHRBECNES) | 125 | 048 | 181 | 096 | 0.62 0 0.5
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BHER | ; i
x = Oh (A) 4 4 2 1 1 6
# 0h<x<lh (A)| 3 3 2 3 1
7K z; 1h <x<2h (A)| 3 1 1 4 3 1
g5 2h <x<4h (A)| 8 12 12 1 4
X > 4h (A)
L2 TIEBE(NE) | 1.69 2.22 3.2 1.38 2.09 0.38
2 X X IKER
=] ‘ : K%Eﬁ
y = 0h (A) 12 15 11 8 9 7
= ;&T; Oh<ys<lh (A) 2 1 1
ZE lh <y=<2h (A) 2 1 1 1
g6 2h <y<4h (A)] 3 1 3
y > 4h (A) 1 1
ZZTHHHENE) | 0.89 0.49 0.73 0 0.23 025 | -
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x = 0h (A) 2 1 1 3 1
k8 0h < x<1h (A) 2 1 2
f% 1h < x<2h (A) 3 4 4 1 5
96 |2h < x<4h (A) 10 4 7 6 7
x> 4h (A)
£ 21988 (/) 2.54 1.91 2.42 1.89 2.27
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y =0h (A) L 9 7 6 6
;E; Oh <y<1h (A) 5 2 1 3
ZE lh <y<2h (A) 3 2 2
26 (2h <y <4h (A) 1 4 2 3

y > 4h (A) 2 1 1
ZRFIHEHE () 1.78 0.11 1.25 1.2 1.42
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x=Oh(A) | 8 | 3|6 | 9|41 2 |4 3|11 1
Boh<x<lh (A)) 2 | 2 | 1 | 2 |3 |5 |5 |1 1]3
£§1h<xg2h (N 7 |9 7 | 2| 1] 2]4]3]68 1
g52h <x<4h (A) 2 | 1 4 | 51 ] 9|2 1 |1 ] 1

x >4h (A)
& % F19#388(/\B5)| 1.05|1.42|0.14 | 0.78 |1.31 | 1.88|1.59|241| 1.1 |117| 15 | 15| 3 | 0

NP 2= Ml = =t =z J/J:\%-
BoE | 178 | Bl Eml | ME AE = e
==y —
y=Oh(A) |17 |12 | 5 |16 | 9 |12 | 8 |14 |10 |10 | 1 | 1 | 1 | 1
§0h<yg1h (N 1| 3| 2] 2| 4 2 2 | 1 1
2&1h<y§2h (A)
962h <y<4h (A)| 1 1
y > 4h (A)
£ AFI9%#% (/) 0.16 | 0.1 [0.29/0.04|008| 0 | 0 [013| 0 |008(0.13/175/013| 0 |,
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] e (L FEdE %
N1 x = 0h (A) 3 2 1
/15 7
k8 0h < x<1h (A) 3 3 1
A3t Z% 1h < x<2h (A) 2 6 1 1
/ #5 2h < x<4h (A) 2 1 7 7
x > 4h (A) 2
] R AT BE (/) 2.01 1.44 3.14 3.17

- y = 0h (A) 9 6 5 5
= ®loh<ysih () 2 5 3 3

7J
N m Th<y=2h (A) 1 1 1
Bre 35 |2h <y <4h (A) 1

y > 4h (A)
22 THBH(E) | 0.28 0.52 0.31 0.3 .
o
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YA

gk x = 0h (A) 9 3 6
¥ 0h < x<1h (A) 6 5 1
:ﬁf‘é 1h < x<2h (A) 6 5 4
96 [2h < x<4h (A) 1
%‘E x > 4h (A)
2 L2 FHBE (/) 0.92 1.04 0.82
= y = 0h (A) 21 10 11
£ 0h<y<1lh (A) 1 3
% lh <y<2h (A)
4R =
Bz 35 |2h <y<4h (A)
y > 4h (A)
=ERASES U S 0.05 0.12 0 "
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RONEEFIENSTEAS  SPES ReR T

ElFra st B3P
x = 0h (A) 7 2
% 0h < x<1h (A) 2 3
i; 1h < x<2h (A) 1 1
o 2h < x<4h (A) 3
x > 4h (A)
% 2 F198EHE (/1)) 0.4 1.45

2

x = 0h (A)

Oh < x<1h (A)

BIFhERET 2B
X El % TrE%
| y=0h (A) 10 8
;“_‘;‘ Oh <y<1h (A)
23 1h <y<2h (A) 1
76 2h < y§4h (A)
y > 4h (A)

BLRFHRFB(NE) 0 0.17

z; 1h < x<2h (A) 2
BE 2h < x<4h (A\) 1
x> 4h (A)
SEARBEE (/)\BS) 2.67
B8 2 EA i EA A
AnZRER
| y=0h (A) 2
% 0h <y<1h (A) 1
% 11h <y<2h (A)
48 =
4] 2h <y§4h (A)
y > 4h (A)
S ERFE () 0.08
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X = Oh (A) 3
# Oh<xslh (A) 51 34 34 2
Z; 1h < x<2h (A) 95 71 57 3
w5 2h < x<4h (A) 123 71 83 4
x>4h (A) 1 1 0 0

T I9REHE (/)\B) 1.92 1.8 1.96 1.51

y = Oh (A)
E Oh<y<1lh (A) 48 28 32 1
Zﬁ 1h <y<2h (A) 38 9 15 1
55 2h <y<4h (A) 27 22 16 0
y > 4h (A) 13 7 3 0
A9 E5 (/) 0.75 0.62 0.56 0.15
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